05 Suction Cup

Cup with Thin Lip

PA

dn) uonong

RoHS®@

drj uiyL yum dno

1)

Suction Cup

PA
PB
PC
PCD
PD
PF (The cup with thin lip. Suitable for smooth and pliable workpieces like paper or vinyl sheets!)
PFO
PH
PJ
CORE

PK2
PK2B

PK2L
PL Paper Vinyl Wafer

PN

e ( Wide range of cup sizes. )

PP

" 65 [610] 615 [ 620 625 | 930 | 640 | 450

PU
PW ( Various fittings for many kinds of applications. )

RA
SM Fixed fitting Spring fitting Compact type fitting

N

177 | conNnvuM



PA

PAG /Cup with Thin Lip

n
Suction Cup 5
g
=]
e
PAG Cup size (mm) P.179 o
® 5~50 O
c
©
g
(=
>
5
Fitting =4
[
. . -c
Type Appllca(l;)rl]?ngup size S(::]?rl]()e Va::rl,:m Piping + Connector Page
Cup with fixed fitting -
PATK ¢ 10~ 50 N/A Top Barb P.183
Cup with fixed fitting - .
PAYK ¢ 10~ 50 N/A Side Barb P.183
PC
PCD
Cup with PD
compact spring fitting ¢ 10~ 20 3,5 Top Male screw P.187 PE
BSS
PFO
PH
. ¢ 10~ 20 3,10, 15 PJ
Cup with Female screw R
spring fitting Top Push-in P.189 CORE
NAPATS Barb R
¢ 25~ 50 6, 15, 30 PK2
PK2B
. ¢ 10~ 20 3,10, 15
Cup with Female screw —PKZL
spring fitting Side Push-in P.189 PL
NAPAYS Barb -
¢ 25~ 50 6, 15, 30 PN
PN-B
¢ 10~ 20 3,10, 15 PP
Cup with non-rotation Female screw I
spring fitting Top Push-in P.195 PQ
NAPATH Barb =
¢ 25~ 50 6, 15, 30 PR
PU
¢ 10~ 20 3,10, 15 PW
Cup with non-rotation Female screw
spring fitting Side Push-in P.195 RA
NAPAYH Barb
¢ 25 ~50 6, 15, 30 SM
TN
Setting screw $5~ 20, $30 = = = P.503

Suction Cup Selection Guide “é P.163

178



XX cup with Thin Lip

How to Order

dn) uonong

(@]
[
T
£
(=
>
—
=2
5
r
©

PAG — 10A — N
| I

@ Cup Size (mm) @ Cup Rubber Material
Symbol | Cup size Symbol | Cup size Symbol Material
5B ¢5 20B ¢20 N NBR(Nitrile rubber)
10A ¢10 25 ¢25 S Silicone rubber
PC 10B %10 30 30 F Fluorine rubber
PCD 15A ¢15 30B ¢30 NE Conductive NBR (Nitrile rubber)
PD 15B ¢15 40 ¢40 SE Conductive silicone rubber
- 20A $20 50 #50 % Please consult with us for other material.
PFO
PH
PJ Cup Rubber Material Standard Specifications
CORE
TKZ Symbol Material Hardness (A/s) |[Ambient temperature (°'C) Color Volume resistivity "2
W N NBR (Nitrile rubber) 55 -26 ~120 Black -
W S Silicone rubber 55 -60 ~ 250 Tra‘rllvshlﬁgent -
PL F Fluorine rubber 70 -10 ~ 230 Bv\llerlﬁé wdlg? B
PN NE | Conductive NBR (Nitrile rubber) 70 -26 ~120 Black with 102~10° Q- cm
PN-B SE Conductive silicone rubber 55 -60 ~ 250 Blackdvgi;ch red 10°~10* Q-cm
PP Notel) Volume resistivity shows conductivity, resistance value is per cm®.
PQ Note?) It is the measured value of in our designated test piece.
PR
PU
oW Applicable Rubber Material Table
RA Round type
SM Material Color el 5B | 10A | 10B | 15A | 15B | 20A | 20B | 25 | 30 |[30B| 40 | 50
N NBR(Nitrile rubber) Black
Silicone rubber Translucent white S

Fluorine rubber Black with white dot

Conductive NBR

(Nitrile rubber) Black with blue dot NE

Conductive silicone
rubber

e o o o o
e e o o o
e o o o o
e o o o o
e e o o o
o e o o o
o e o o o
O|l0 @ e @
O|0 @ e @
O|0 @ e @
CRNORE AN BN J
O|0 e @ @

Black with red dot SE

@ :In stock OMade to order x:None
*Please consult with us for other material.

179



PA

PAG /Cup with Thin Lip

Dimensions
(mm)
PAG-5B PAG-10A
8.5
4 26
23 @4
02 |
( [
‘ ~ |
n ‘ }
| ~ L | "
iy | =
. 1
« o1 < @2
@5 @10
1
Surface texturing
PAG-10B PAG-15A
@8.5 8.5
6 @6
@4 @4
( | |
- ] : o ] ‘
o~ L ! n o~ L : 0
~
bl I
— e
T | ) 1—
@2 o)) @2
2} S
o @10 215
I

Surface texturing

Weight
(9)
Model \ Applicable setting screw Syiilsel Material
Material N S F NE | SE (Screws specifications) ymee :
TN-PS-2A-M3 (Male M3X0.5) i NBR(Nitrile rubber)
PAG-5B 0.1 0.1 0.1 0.1 0.1 | TN-PS-2A-M3F (Female M3X0.5) il
TN-PS-2A-M5 (Male M5X0.8) S Silicone rubber
PAG-10A | 03 | 0.3 | 05 | 03 | 03 F Fluorine rubber
TN-PS-10-M5 (Male M5X0.8) NE Conductive NBR (Nitrile rubber)
PAG-10B | 03 | 03 | 05 | 04 | 03 | 1\ pS_10-M5F (Female M5X0.8) —
SE Conductive silicone rubber

PAG-15A | 04 | 04 | 06 | 04 | 04

*Please refer to P.503 for setting screw detailed specifications.

dn) uonong

dr uiyl yum dng

PC
PCD

PD
PF

PFO
PH
PJ

CORE

PK2

PK2B

PK2L

PL
PN

PN-B

PP

PQ

180

PR
PU
PW
RA
SM
TN



Cup with Thin Lip

wn
c
I3}
[=
o . .
3 Dimensions
(@]
'g (mm)
o PAG-15B PAG-20A
G 285 29
ko]
s 26 26
2
> @4 Q4
5 F
5 — | . AN S
= ~ i ~ |
©° ~ \
~ [ . L o
— ~ ‘ —
) 4 Q % [TT1(
= — i > 1 }
" 22 ' 22
1 ~
i 15 - 220
I 1 I 1
PC
PCD Surface texturing
PD
PAG-20B PAG-25
PF @85
@22
PFO @6 M6X1 215 Width across flat 13
PH o4
— |
PJ | S| T
— o~ i ‘ 0
CORE ~ L \ i
PK2 | > ﬁ/ w| g
PK28B R ) S~ | |
1 " > J
PK2L @ 22 —— 2
T S L
PL ‘ @20 | ;
- 23
N B @25
77777 - I 1
PN-B
PP
PQ
PR
Surface texturing I
PU
PW
RA
M Weight
N (9)
Model \ Applicable setting screw Syila Material
Material N S P s e (Screws specifications) P BN
PAG-15B | 04 | 04 | 06 | 0.4 | 0.4 N NBR(Nitrile rubber)
TN-PS-10-M5 (Male M5X0.8) S Silicone rubber
PAG-20A | 06 | 0.6 | 1.0 | 0.7 | 06 | 1N.ps-10-M5F (Female M5X0.8) :
PAG-20B | 0.7 | 0.7 | 1.1 | 0.7 | 0.7 F Fluorine rubber
PAG-25 1961 19.6|208|19.7|19.6 - NE Conductive NBR (Nitrile rubber)
#%Please refer to P.503 for setting screw detailed specifications. SE Conductive silicone rubber

181



PA

PAG /Cup with Thin Lip

wn
c
o
[=4
. . F
Dimensions 3
(@]
(mm) S
PAG-30 PAG-30B o
c
@22 215 =
M6X1 215 Width across flat 13 210 é_
=
@6 —
3
| 5
! C
- B E
S " — =
N
1
i 0 e -
o —
0,3 ‘ @30 |
PC
Surface texturing E—
PCD
PD
PAG-40 PAG-50 PE
@22 -
M6X1 Width across flat 13 Width across flat 13 PFO
PH
© © P)
| 9 ©| o CORE
4‘ | PK2
o (2 S —
1 PK2B
< 23 PK2L
@40 B
‘ ! ! PL
PN
PN-B
PP
PQ
PR
PU
PW
RA
Weight SM
9 ™
Model \ Applicable setting screw Syiiilsal Material —
Material N S F b= || = (Screws specifications) Bl .a.er|a
PAG-30 | 19.9 | 19.9 | 21.3 | 20.1 | 19.9 - N NBR(Nitrile rubber)
PAG-30B | 3.1 | 31 | 50 | 33 | 3.1 | TN-PA-30-M6 (Male M6X1.0) e Silicone rubber
PAG-40 | 20.0 | 20.0 | 21.4 | 20.2 | 20.0 F Fluorine rubber
PAG-50 220 | 220 | 246 | 223 | 220 ) NE | Conductive NBR (Nitrile rubber)
#%Please refer to P.503 for setting screw detailed specifications. SE Conductive silicone rubber

182



dn) uonong

dr ulyL yum dng

PCD
PD
PF

PFO

PH
PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

183

YV, Q 1.4 Cup with Fixed Fitting

Consisting of fitting, setting screw, suction cup.

¢ $10~20 N $308B ) (" ¢25~50(except for 308) |
* *
* *
* * * *

N RN 2N /

How to Order

@ Vacuum Port

T Top
Y Side
|
@ Cup Size (mm) @ Cup Rubber Material
Symbol | Cup size Symbol | Cup size Symbol Material
10A @10 25 ¢ 25 N NBR(Nitrile rubber)
10B ¢ 10 30 %30 S Silicone rubber
15A ¢15 30B $30 B Fluorine rubber
15B $15 40 ¢ 40 NE Conductive NBR(Nitrile rubber)
20A ¢20 50 50 SE Conductive silicone rubber
20B @20 % Please consult with us for other material.




PA

PATK - YK /Cup with Fixed Fitting

wn
c
2
Combination Table S
5
©
Top Port o
c
Model number Cup Setting screw Fitting Piping specifications ';
PATK-10A- PAG-10A- [ =
PATK-10B- [J PAG-10B- [J 3
5
PATK-15A-[J PAG-15A-[J Attach the cup directly to PETK-10A-K r
PATK-15B- [J PAG-15B- [J the fitting ©
PATK-20A- [ PAG-20A- [
PATK-20B- [ PAG-20B- [J Barb ¢ 6X4
PATK-25- [J PAG-25-J Screw the fitting directly
into the male screw in the
PATK-30- [J PAG-30- [J cup
PATK-30B- [ PAG-30B- [ TN-PA-30-M6 PATK-25-K
PATK-40- PAG-40- [ Screw the fitting directly
into the male screw in the
PATK-50- [J PAG-50- [J cup
X[ in the table indicates the cup material.
Side Port PC
Model number Cup Setting screw Fitting Piping specifications PCD
PAYK-10A- PAG-T10A- [ PD
PAYK-10B- 1 PAG-10B- [J PF
PAYK-15A-1J PAG-15A-[J Attach the cup directly to PFYK-5A-K PFO
PAYK-15B- ] PAG-15B- [J the fitting —_
PAYK-20A- [J PAG-20A- [ PH
PAYK-20B- [ PAG-20B- [J Barb ¢ 6X4 P)
PAYK-25- ] PAG-25- [] Screw the fitting directly CORE
into the male screw in the -
PAYK-30- ] PAG-30- [ cup PK2
PAYK-30B- [] PAG-30B- [ TN-PA-30-M6 PAYK-25-K W
PAYK-40- [] PAG-40- ] Screw the fitting directly
into the male screw in the PK2L
PAYK-50- [J PAG-50- [ cup
¥ in the table indicates the cup material. PL
PN
PN-B
PP
PQ
PR
PU
PW
RA
SM
TN

184



dn) uonong

dr ulyL yum dng

PCD
PD
PF

PFO
PH
PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

185

YV, Q 1.4 Cup with Fixed Fitting

Dimensions

Top Port PATK-10A/10B/15A/15B

12H
N
2|
dl =
N
~
10H
Model number A Y Weight (g)
PATK-10A- I 10 0.6
PATK-10B- [J 0.3 15
PATK-15A- ] 15 0.9
PATK-15B- 0.5

%[ in the table indicates the cup material.

% The weight value is when NBR (Nitrile rubber) selected.

Top Port PATK-25/30/40/50

14H
~| o
o0 O
«©
14H
Model number A Y Weight (g)
PATK-25- ] 25 1.5 54
PATK-30- [] 30 1.8 55
PATK-40- ] 40 2.4
PATK-50- (] 50 3 56

[ in the table indicates the cup material.

3 The weight value is when NBR (Nitrile rubber) selected.

(mm)

Top Port PATK-20A/20B

@5

-

3 12H

M5X0.8
M9X1 =
*\- |
T 14
— ™
E 7|4
H T 2 n| ©
- )
| o
@)
. 220
10H
Model number B @ Y Weight (g)
PATK-20A- [J 43.5 10 1.2 16
PATK-20B- [] 425 9 0.8

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

Top Port PATK-30B

o5
23
’* 14H
M5X0.8
M10X1.5 =
Jf B
4 N o
- o~
R
3| o
J n
. 14H
M6X1.0 b
L ﬁ 2

" @30 14H
o

2.5H

Model number

Weight (g)

PATK-30B- [J

63

*[J in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.



PA

PATK - YK /Cup with Fixed Fitting

wn
c
3]
[=4
. . o
Dimensions 3
(mm) 9
mm S
Side Port PAYK-10A/10B/15A/15B Side Port PAYK-20A/20B o
c
©
g
M4X0.7 depth 6 210 M4X0.7 depth 6 5
—
>
16 =
10H | / 10H >
\ [
©
S| 8| IS
Y
o~
X o o~
o
o0
M5X0.8 i M5X0.8 i
E— @)
PC
Model number A Y Weight (g) Model humber B (e Y Weight (g)
PAYK-10A- [J o | 08 PAYK-20A-0] | 325 | 10 | 1.2 - PCD
PAYK-10B- [ 0.3 16 PAYK-20B- [ 315 9 0.8 PD
PAYK-15A- 0.9 3% in the table indicates the cup material.
el 15 05 % The weight value is when NBR (Nitrile rubber) selected. PF
%[ in the table indicates the cup material. PFO
% The weight value is when NBR (Nitrile rubber) selected. p
H
PJ
CORE
Side Port PAYK-25/30/40/50 Side Port PAYK-30B E—
PK2
PK2B
212 @12 —
_M6X1 depth 8 _M6X1 depth8 PK2L
7] —_—
! ] 14H PL
‘ PN
PN-B
PP
PQ
PR
PU
PW
Width across flat 13 14H RA
SM
2.5H
TN
Model number A Y Weight (g) Model number | Weight (g)
PAYK-25- [] 25 15 54 PAYK-30B- [ 63
PAYK-30- [J 30 1.8 %[ in the table indicates the cup material.
PAYK-40- LI 40 24 55 % The weight value is when NBR (Nitrile rubber) selected.
PAYK-50- [J 50 3 56

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

186



IE Cup with Compact Spring Fitting

¢10~20

dn) uonong
\

O
c
T
z
[
>
—
=
S
[
T

*

Attach the cup directly to the fitting

Simple construction of the cup and the fitting. \_ /

PC
— How to Order
PCD
PD
PF PSS — L3 — PAG — 10A — N
PFO @ @ ©)
PH
PJ
CORE
PK2 @ Stroke (mm) @ Cup Size (mm) Cup Rubber Material
TZB Symbol Length Symbol Cup size Symbol Material
— L3 3 10A $10 N NBR (Nitrile rubber)
PK2L L5 5 15A ¢15 S Silicone rubber
PL 20A ¢20 F Fluorine rubber
PN NE Conductive NBR (Nitrile rubber)
PN-B SE Conductive silicone rubber
- % Please consult with us for other material.
PP
PQ
PR
PU Combination Table Spring Specifications
PW
RA Model number Cup Fitting | Piping specifications Cup Size Unit #10~¢20
PSS-L3-PAG-10A-[] | PAG-10A-0J
M PSS-L3-PAG-15A-0] | PAG-15A-0] | PSS-L3 stroke mm | 3 | ®
N PSS-L3-PAG-20A-C1 | PAG-20A-00 Spring load at O stroke N 1.5 1.62
M5X0.8 (Male)
PSS-L5-PAG-10A-0] | PAG-T10A-0 Spring load at full stroke| N 23 | 32
PSS-L5-PAG-15A-[1 | PAG-15A-0 | PSS-L5 N N
PSS-L5-PAG-20A-L] | PAG-20A-L] Tightening torque N-m | 0.58~0.68

3 Due to structural reason, flift-up; may occur in case
vacuum pressure is more than -65kPa. The weight of non
Mift-ups in horizontal lifting is about over 200g.

Screw must be tightened in recommended tightening
torque, otherwise malfunction would occur.

*[Jin the table indicates the cup material.

187



PA

PSS / Cup with Compact Spring Fitting

wn
c
(2]
[=4
. . o
Dimensions 3
O
(mm) S
PSS-L3-PAG-10A/15A PSS-L3-PAG-20A o
5
_ r g
—+
© >
w —
L =)
- >
[
©
M5X0.8 3.8
™
wn
X
PC
PCD
Model number A © Weight (g) Model number Weight (g) e
PSS-L3-PAG-10A-] | 10 | 06 o PSS-L3-PAG-20A- [] 13 PD
PSS-L3-PAG-15A- ] 15 0.9 %[ in the table indicates the cup material. PF
%0 in the table indicates the cup material. ¥ The weight value is when NBR (Nitrile rubber) selected.
¥ The weight value is when NBR (Nitrile rubber) selected. PFO
PH
PJ
PSS-L5-PAG-10A/15A PSS-L5-PAG-20A CORE
PK2
- _ © PK2B
*l | i PK2L
PL
@3.8
M5X0.8 ﬂi PN
PN-B
O —
) PP
. PQ
NN I
0 =y PR
o N
PU
o
- PW
Y RA
SM
TN
Model number A © Weight (g) Model number Weight (g)
PSS-L5-PAG-10A- J 10 0.6 - PSS-L3-PAG-20A- J 14
PSS-L5-PAG-15A- [J 15 0.9 [ in the table indicates the cup material.

%0 in the table indicates the cup material, % The weight value is when NBR (Nitrile rubber) selected.

% The weight value is when NBR (Nitrile rubber) selected.

188



N LAAVISR ) Cup with Spring Fitting

dn) uonong

(@]
=
T
£
(=
5
—|
=2
5
=
©

Consisting of fitting, setting screw, suction cup.

¢ $10~20 N [ 308 ) (* ¢25~50(except for 308) |
PC
- * *
PCD * *
PD * *
4+ 4+
PF
PFO -
B
- \_ O\l o\l J
PJ
CORE How to Order
PK2
oKOB NAPA T S — 10A—3 — N — T
PKaL 0 @ €) @
PL
PN @ Vacuum Port
PN-B T | T
— Y Side
PP A A
PQ @ Cup Size - Stroke (mm) — L3 Cup Rubber Material @ Connector
R Symbol | YPSZe symbol | YPRSZe  symbol | P Size Rl Material Blank'|  N/A
P 10A3 | $10-3 20A-3 | $20-3 30B6 | $30-6 N | NBR (Nitrile rubber) T Barb
(0] Push-i
PW 10A-10| $10-10 20A-10| $20-10 30B-15| ¢30-15 s Silicons rubber ushin
RA 10A-15| ¢10-15 20A-15| ¢20-15 30B-30 | ¢30-30
—_— Fl i bb
M 10B3 | ¢10-3 20B3 | ¢20-3 40-6 | $406 i porine rubber
Conductive NBR
i~ 10B-10| $10-10 20B-10| $20-10 40-15 | ¢40-15 NE Qrductive NSt
10B-15| ¢10-15 20B-15| ¢20-15 40-30 | ¢40-30 - Conductive silicone
15A-3 | ¢15-3 256 | ¢256 50-6 | $50-6 rubber
% Please consult with us for other material.
15A-10| $15-10 25-15 | $25-15 50-15 | ¢50-15
15A-15| ¢15-15 25-30 | $25-30 50-30 | ¢50-30

15B-3 | ¢15-3 30-6 | ¢30-6
15B-10 | ¢15-10 30-15 | $30-15
15B-15| ¢15-15 30-30 | $30-30

189



Spring Specifications

NAPATS - YS / Cup with Spring Fitting

Cup Size Unit ¢10~20 $25~50
Stroke mm | 3 [ 10| 15| 6 | 15| 30
Spring load at O stroke N 0.61 0.64 2.45 2.9
Spring load atfullstroke | N | 077 | 117 343 | 49 | 588
Combination Table
. Piping specifications
g sy Cup Ssit:éf;? Fitting Without Barb Push-in
connector * Blank | connector*T |connector:0O
NAPAOS-10A-3-0J (-T/0) NAPFOS-10A-3-K (-T/0)
NAPACOS-10A-10-1 (-T/O) PAG-10A- NAPFOS-10A-10-K (-T/O)
NAPACOS-10A-15-[1 (-T/O) NAPFOS-10A-15-K (-T/0O)
NAPAOS-10B-3-] (-T/0) NAPFOS-10A-3-K (-T/0)
NAPAOS-10B-10-0 (-T/0) PAG-10B-[J NAPFOS-10A-10-K (-T/0O)
NAPAOS-10B-15-01 (-T/0) NAPFOS-10A-15-K (-T/0O)
NAPAOS-15A-3-] (-T/0) NAPFOS-10A-3-K (-T/0)
NAPAOS-15A-10-0J (-T/O) PAG-15A-CJ NAPFOS-10A-10-K (-T/0O)
NAPAOS-15A-15-00 (-T/0) Attach the NAPFOS-10A-15-K (-T/O)
cup directly

NAPAOS-15B-3-] (-T/0O)

to the fitting

NAPFOS-10A-3-K (-T/O)

NAPAOS-15B-10-0J (-T/0) | PAG-15B-00 NAPFOS-10A-10-K (-T/O)
NAPAOS-15B-15-[1 (-T/0O) NAPFOS-10A-15-K (-T/O)
NAPAOS-20A-3-[] (-T/0) NAPFOS-10A-3-K (-T/0)
NAPAOS-20A-10-00 (-T/0) | PAG-20A-[] NAPFOS-10A-10-K (-T/O)
NAPAOS-20A-15-01 (-T/0) NAPFOS-10A-15-K (-T/O)
NAPAOS-20B-3-[1 (-T/0) NAPFOS-10A-3-K (-T/0)
NAPAOS-20B-10-C] (-T/0) | PAG-20B-[ NAPFOS-10A-10-K (-T/O)
NAPAOS-20B-15-C1 (-T/O) NAPFOS-T10A-15-K (-T/O)
NAPAOS-25-6-[1 (-T/0) NAPAOS-25-6-K (-T/O)
NAPAOS-25-15-[] (-T/0O) PAG-25-0] | Screw NAPAOS-25-15-K (-T/0)
the fitting
NAPAOS-25-30-[] (-T/0O) directly into | NAPAOS-25-30-K (-T/0)
NAPAOS-30-6-CJ (-T/0) the male NAPAOS-25-6-K (-T/0)
screw in the
NAPAOS-30-15-01 (-T/0O) PAG-30-0] |cup NAPAOS-25-15-K (-T/0)
NAPAOS-30-30-CJ (-T/O) NAPAOS-25-30-K (-T/0)
NAPAOS-30B-6-1] (-T/0) NAPAOS-25-6-K (-T/O)
NAPAOS-30B-15-C] (-T/O) | PAG-30B-C] |TN-PA-30-M6| NAPAOS-25-15-K (-T/O)
NAPAOS-30B-30-[] (-T/0O) NAPAOS-25-30-K (-T/0)
NAPAOS-40-6-[] (-T/0) NAPAOS-25-6-K (-T/O)
NAPAOS-40-15-01 (-T/O) PAG-40-01 | Screw NAPAOS-25-15-K (-T/0)
the fitti
NAPAOS-40-30-0 (-T/0) directly into | NAPAOS-25-30K (-T/0)
NAPACOS-50-6-C] (-T/O) the male NAPAOS-25-6-K (-T/0)
screw in the
NAPAOS-50-15-C1 (-T/O) PAG-50-C] | cup NAPAOS-25-15-K (-T/0)

NAPAOS-50-30-00 (-T/0)

NAPAOS-25-30-K (-T/O)

M5X0.8
(Female)

p6X4

[ in the table indicates the cup material.
%O in the table indicates the vacuum port (T or Y).

dn) uonong

dr uiyl yum dng

PC
PCD

PD
PF

PFO
PH
PJ

CORE

PK2

PK2B

PK2L

PL
PN

PN-B

PP

PQ

190

PR
PU
PW
RA
SM
TN



N LAVISR ) Cup with Spring Fitting

(2]
c
(¢}
=4
o) - -
5 Dimensions
Q (mm)
5 mm
o NAPAT/YS-10A NAPAT/YS-10B
S 25 26 25 26
z - N -
> .—L ! e} —L ; O
3 E e : i A :
Z I o I o
S ;,7,‘7,7,4 ;,7,‘7,7,4
L. | |
T ‘ Width across flat 6 ‘ Width across flat 6
M5X08 | ‘
J 12H J 12H
M8X0.75 N
T (o)} (o)}
|
M5X0.8 T ol o,
I - A O - Y D
wf I, o) ol o)
. ' A
© 22 22
g [FSho e o | |- Lo o
PC Model number D E F G | Weight(g) Model number D E F G | Weight(g)
NAPAT/YS-10A-3 [ (-T/0) 55.5 3 18 NAPAT/YS-10B-3- [ (-T/0) 555 3 18
PCD 23 17 23 17
NAPAT/YS-10A-10- ] (-T/O) | 62,5 10 185 NAPAT/YS-10B-10- [ (-T/O) | 62.5 10 185
PD NAPAT/YS-10A-15- [ (-T/0) 75 15 305 | 245 21 NAPAT/YS-10B-15- [J (-T/0) 75 15 305 | 245 21
3%[Jin the table indicates the cup material. %[ in the table indicates the cup material.
PF % The weight value is when NBR (Nitrile rubber) / without connector selected. 3 The weight value is when NBR (Nitrile rubber) / without connector selected.
PFO
PH NAPAT/YS-15A NAPAT/YS-15B
PJ
CORE
PK2
PK2B Width across flat 6
PK2L
PL
PN
PN-B
PP
— 10H
PQ
PR Model number D E F G | Weight(g) Model number D E F G | Weight(g)
PU NAPAT/YS-15A-3- [ (-T/0) 55.5 3 23 17 18 NAPAT/YS-15B-3- [J (-T/0) 55.5 3 23 17 18
NAPAT/YS-15A-10- (-T/0) | 62,5 10 185 NAPAT/YS-15B-10- 0 (-T/O) | 62.5 10 185
PW NAPAT/YS-15A-15- 1 (-T/0) 75 15 305 | 245 21 NAPAT/YS-15B-15- [ (-T/O) 75 15 305 | 245 21
RA *%[Jin the table indicates the cup material. *[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector selected. 3% The weight value is when NBR (Nitrile rubber) / without connector selected.
SM
TN

Common Specifications

Connector Weight(g)
Symbol Tube O.D ¢ 6
T 1.5
0 4.0

191



PA

NAPATS - YS / Cup with Spring Fitting

wn
c
(o]
=4
. . )
Dimensions 3
(mm) 9
mm 5
NAPAT/YS-20A NAPAT/YS-20B o
C
ie]
o5 6 26 <
1. - - :'_'
| | i
— ) o =3
18, p g
S - r
‘ Width across flat 6 Width across flat 6 ©
M5X0.8 !
| /12 12H
M8X0.75 !
[22) 1 o Al
M5X0.8 F—— 1 ol .
! a
| [EE— a Y
o] ™ \ -
¢ — W s AT
ETAV o 10H 22 N2
@20 — @20 10H
Model number D E F G | Weight(g) Model number D E F G |Weight(g)
NAPAT/YS-20A-3- I (-T/0) 58 3 23 17 18 NAPAT/YS-20B-3- (I (-T/0) 57 3 23 17 18 PC
NAPAT/YS-20A-10- [ (-T/0) 65 10 185 NAPAT/YS-20B-10- [ (-T/O) 64 10 185 -
NAPAT/YS-20A-15- [ (-T/O) | 77.5 15 305 | 245 21 NAPAT/YS-20B-15- [1 (-T/O) | 76.5 15 305 | 245 21 PCD
*[Jin the table indicates the cup material. »*%[Jin the table indicates the cup material. PD
¥ The weight value is when NBR (Nitrile rubber) / without connector selected. 3 The weight value is when NBR (Nitrile rubber) / without connector selected.
PF
NAPAT/YS-25 NAPAT/YS-30 PFO

£+ e
: 32 + 92 o
PK2

o PK2B

PK2L

F

PL
) PN

k PN-B

18 | 22.2

14H ) 14H PP
Width across flat13 230 Width across flat 13 PQ

Model number D El F G | Weight(g) Model number D E F G | Weight(g) PR
NAPAT/YS-25-6- [ (-T/O) 87.2 6 81 NAPAT/YS-30-6- [ (-T/O) 87.2 6 82 PU
36 28 36 28

NAPAT/YS-25-15- [ (-T/O) 962 | 15 86 NAPAT/YS-30-15- [J (-T/O) 96.2 | 15 87

NAPAT/YS-25-30- (] (-T/O) 1332 | 30 58 50 111 NAPAT/YS-30-30- [J (-T/O) 1332 | 30 58 50 112 PW

%[ in the table indicates the cup material. X[ in the table indicates the cup material. RA
% The weight value is when NBR (Nitrile rubber) / without connector selected. 3% The weight value is when NBR (Nitrile rubber) / without connector selected.

SM
TN

Common Specifications

Connector Weight(qg)

Symbol Tube O.D ¢ 6
T 1.5
(0] 4.0

192



dn) uonong

dr ulyL yum dng

PCD
PD
PF

PFO
PH
PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

193

N LAVISR ) Cup with Spring Fitting

Dimensions

NAPAT/YS-30B

(mm)

NAPAT/YS-40

N
o~
o~

Width across flat 13

Model number D E F G | Weight(g) Model number D E F G | Weight(g)
NAPAT/YS-30B-6- [J (-T/0) 84.2 6 36 28 82 NAPAT/YS-40-6- ] (-T/O) 87.2 6 . 28 82
NAPAT/YS-30B-15- [1 (-T/O) | 93.2 15 87 NAPAT/YS-40-15- [ (-T/O) 96.2 15 87
NAPAT/YS-30B-30- (] (-T/0) |130.2| 30 58 50 112 NAPAT/YS-40-30- [ (-T/O) 1332 30 58 50 112

3%[Jin the table indicates the cup material.

3% The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPAT/YS-50

N

o~

o~

Width across flat 13
Model number D E IF G | Weight(q)

NAPAT/YS-50-6- [] (-T/0) 87.2 6 36 8 83
NAPAT/YS-50-15- [J (-T/O) 96.2 15 88
NAPAT/YS-50-30- [J (-T/0O) 1332 30 58 50 113

%[ in the table indicates the cup material.

¥ The weight value is when NBR (Nitrile rubber) / without connector selected.

Common Specifications

¥ [Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector selected.

Connector Weight(g)
Symbol Tube O.D ¢ 6
T 1.5
0 4.0




PA

PAG /Cup with Thin Lip

dn) uonong

dr uiyl yum dng

PC
PCD

PD

PF

PFO

PH
PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

194

PR
PU
PW
RA
SM
™



\aVaV1s B 450 Cup with Non-rotation Spring Fitting

dn) uonong

(@]
=
T
£
(=
5
—|
=2
5
=
©

Consisting of fitting, setting screw, suction cup.

é $10~20 N $308B ) [ $25~50(except for 30B) |

Preventing
the workpiece

rotates with the
hexagonal shape
of axis stroke

PC P P
PCD
PD * * * *
_ * *
PF
PFO i
o
7 \_ RNG RNG J/
PJ
CORE How to Order
PK2
PK2B
7 NAPA T H — 10A—3 — N — T
e ® @ ® @
PL ﬁ
PN
— @ Vacuum Port
_PNB T Top
PP Y Side
PQ
PR @ Cup Size - Stroke (mm)—— 3 Cup Rubber Material @ Connector
PU Symbol CS?tFr, osliée Symbol CSL"cFr)osliée Symbol Csut;?oskizee Symbol Material Blank N/A
PW 10A-3 | 103 20A-3 | $20-3 30B-6 | $30-6 N NBR(Nitrile rubber) (T) PB"":?
ush-in
RA 10A-10| ¢10-10 20A-10| ¢20-10 30B-15| ¢30-15 s Silicone rubber
10A-15| ¢10-15 20A-15| ¢20-15 30B-30| ¢30-30
M 10B-3 | ¢10-3 20B-3 | ¢20-3  40-6 | $40-6 F Fluorine rubber
N 10B-10 | $#10-10 20B-10| ¢#20-10 40-15 | ¢40-15 NE Conductive NBR
— (Nitrile rubber)
10B-15| ¢10-15 20B-15| $20-15  40-30 | ¢40-30 S
SE Conductive silicone
15A-3 | ¢15-3 25-6 | ¢25-6 50-6 | ¢50-6 rubber
15A-10 | $15-10 25-15 | ¢25-15 50-15 | ¢50-15 % Please consult with us for other material.
15A-15| ¢15-15 25-30 | $25-30 50-30 | $50-30
15B-3 | ¢15-3 30-6 | #30-6
15B-10| ¢15-10  30-15 | $30-15
15B-15| ¢15-15  30-30 | $30-30

195



PA

Spring Specifications

NAPATH - YH / Cup with Non-rotation Spring Fitting

Cup Size Unit $10~20 $25~50
Stroke mm | 3 [ 10 | 15| 6 | 15| 30

Spring load at O stroke 0.61 0.64 2.45 2.9

Spring load at full stroke 0.77 ‘ 117 3.43 ‘ 49 | 588
Combination Table

. Piping specifications
g sy Cup Ssit:éf;? Fitting Without Barb Push-in
connector ¢ Blank | connector:T |connector+O
NAPAOH-10A-3-[] (-T/O) NAPFOH-5A-3-K (-T/O)
NAPAOH-10A-10-0] (-T/0) | PAG-10A-0] NAPFOH-5A-10-K (-T/O)
NAPAOH-10A-15-01 (-T/O) NAPFOH-5A-15-K (-T/O)
NAPAOH-10B-3-0] (-T/O) NAPFOH-5A-3-K (-T/O)
NAPAOH-10B-10-C] (-T/0) | PAG-10B-0] NAPFOH-5A-10-K (-T/O)
NAPAOH-10B-15-0] (-T/0) NAPFOH-5A-15-K (-T/O)
NAPAOH-15A-3-01 (-T/O) NAPFOH-5A-3-K (-T/O)
NAPAOH-15A-10-[] (-T/0) | PAG-15A-[] NAPFOH-5A-10-K (-T/O)
NAPAOH-15A-15-0 (-T/O) Attachthe | NAPFOH-5A-15-K (-T/O)
cup directly

NAPAOH-15B-3-[1 (-T/0) to the fitting | NAPFOH-5A-3-K (-T/O)
NAPAOH-15B-10-0J (-T/0) | PAG-15B-[] NAPFOH-5A-10-K (-T/O)
NAPAOH-15B-15-C] (-T/0) NAPFOH-5A-15-K (-T/O)
NAPAOH-20A-3-0] (-T/O) NAPFOH-5A-3-K (-T/O)
NAPAOH-20A-10-[] (-T/0) | PAG-20A-[] NAPFOH-5A-10-K (-T/O)
NAPAOH-20A-15-(1 (-T/O) NAPFOH-5A-15-K (-T/O)
NAPAOH-20B-3-[1 (-T/0) NAPFOH-5A-3-K (-T/O)
NAPAOH-20B-10-CJ (-T/0) | PAG-20B-C] NAPFOH-5A-10K (T/0) | [HoX08 66X4
NAPAOH-20B-15-C] (-T/0) NAPFOH-5A-15-K (-T/O)
NAPAOH-25-6-L] (-T/0) NAPAOH-25-6-K (-T/O)
NAPAOH-25-15-0] (-T/0) | PAG-25-01 | Screw NAPAOH-25-15-K (-T/O)
NAPACH-25-30-] (-T/0) o0 | NAPAOH-25-30K (T/0)
NAPAOH-30-6-0 (-T/0) g;fem‘r? the | NAPAOH-25-6-K (-T/0)
NAPAOH-30-15-0] (-T/0) | PAG-30-0] | cup NAPAOH-25-15-K (-T/O)
NAPAOH-30-30-C] (-T/0) NAPAOH-25-30-K (-T/O)
NAPAOH-30B-6-01 (-T/0) NAPAOH-25-6-K (-T/O)
NAPAOH-30B-15-C] (-T/0) | PAG-30B-0 |TN-PA-30-M6&| NAPAOH-25-15-K (-T/O)
NAPAOH-30B-30-C] (-T/0) NAPAOH-25-30-K (-T/O)
NAPAOH-40-6-[1 (-T/O) NAPAOH-25-6-K (-T/O)
NAPAOH-40-15-0] (-T/0) | PAG-40-0 | Screw NAPAOH-25-15-K (-T/O)
NAPACOH-40-30-0 (-T/0) rotini4s | NAPAOH-25-30K (-T/0)
NAPAOH-50-6-00 (-T/0) ggfefuai‘rf the | NAPAOH-25-6-K (-T/0)
NAPAOH-50-15-C] (-T/0) | PAG-50-01 | cup NAPAOH-25-15-K (-T/O)

NAPAOH-50-30-00 (-T/O)

NAPAOH-25-30-K (-T/O)

% [Jin the table indicates the cup material.
%O in the table indicates the vacuum port (T or Y).

dn) uonong

dr uiyl yum dng

PC
PCD

PD
PF

PFO
PH
PJ

CORE

PK2

PK2B

PK2L

PL
PN

PN-B

PP

PQ

196

PR
PU
PW
RA
SM
TN



\aVaV1s B 450 Cup with Non-rotation Spring Fitting

(2]
c
O
=4
o) - -
5 Dimensions
9 (mm)
5 mm
o NAPAT/YH-10A NAPAT/YH-10B
[
© 5 6 @5 6
2 -] -
: i el * —
— = | © = | =
3 : A . A
C ;,7,‘7,7,4 ;,7,‘7,7,4
S . .
M5X0.8 | Width across flat 6 M5X0.8 | Width across flat 6
‘ 12H ‘ 12H
I I
M8X0.75 / M8X0.75
o
y ! O
o [N
| o o
| 5 &
|
Pl NN qoH @ h h
M5X0.8 1
© @2 " |
S 210 ~ >
PC Model number D E F G | Weight (g) Model number D E 7 G | Weight (g)
NAPAT/YH-10A-3- [ (-T/O) 55.5 3 23 17 185 NAPAT/YH-10B-3- [ (-T/0) 55.5 3 23 17 185
PCD NAPAT/YH-10A-10- [ (-T/O) | 62.5 10 19 NAPAT/YH-10B-10- 1 (-T/O) | 62.5 10 19
PD NAPAT/YH-10A-15- [ (-T/O) 75 15 305 | 245 22 NAPAT/YH-10B-15- [ (-T/O) 75 15 305 | 245 22
%[ in the table indicates the cup material. %[ in the table indicates the cup material.
PF 3 The weight value is when NBR (Nitrile rubber) / without connector selected. % The weight value is when NBR (Nitrile rubber) / without connector selected.
PFO
PH NAPAT/YH-15A NAPAT/YH-15B
PJ
CORE '
PK2 Y
PK2B Width across flat 6
PK2L
PL
N o
PN-B
PP
PQ
PR Model number D E F G | Weight (g) Model number D E F G |Weight (g)
PU NAPAT/YH-15A-3- [ (-T/0) 55.5 3 23 17 185 NAPAT/YH-15B-3- [ (-T/O) 55.5 3 23 17 185
NAPAT/YH-15A-10- (-T/O) | 62.5 10 19 NAPAT/YH-15B-10- 0 (-T/O) | 62.5 10 19
PW NAPAT/YH-15A-15- (I (-T/O) 75 15 305 | 245 22 NAPAT/YH-15B-15- [J (-T/0) 75 15 305 | 245 22
RA *%[Jin the table indicates the cup material. *[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector selected. 3% The weight value is when NBR (Nitrile rubber) / without connector selected.
SM
TN

Common Specifications

Connector Weight(g)
Symbol Tube O.D ¢ 6
T 1.5
0 4.0

197



Dimensions

NAPATH - YH / Cup with Non-rotation Spring Fitting

NAPAT/YH-20A

8 . B

‘ Width across flat 6

M5X0.8 ‘
| /124
M8X0.75

o | P \
M5X0.8 -
o ©2  o~0H
©20
Model number D E F G |Weight (g)

NAPAT/YH-20A-3- [ (-T/0) 58 3 23 17 185
NAPAT/YH-20A-10- [] (-T/0) 65 10 19
NAPAT/YH-20A-15- (-T/O) | 77.5 15 305 | 245 22

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector selected.

a5 »?_?«
:ﬂ:;feﬁf

12H

NAPAT/YH-25

M5X0.8

Model number D El F G |Weight (g)
NAPAT/YH-25-6- (] (-T/0) 87.2 6 36 ’8 79
NAPAT/YH-25-15- [ (-T/O) 962 | 15 84
NAPAT/YH-25-30- ] (-T/O) |133.2| 30 58 50 108

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector selected.

Common Specifications

(mm)
NAPAT/YH-20B
Model number D E F G | Weight (g)
NAPAT/YH-20B-3- [J (-T/0) 57 3 23 17 185
NAPAT/YH-20B-10- [J (-T/0) 64 10 19
NAPAT/YH-20B-15- [J (-T/O) | 76.5 15 | 305 | 245 22

%[ in the table indicates the cup material.

3% The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPAT/YH-30

F

L O
o
o~
- v
Width across flat 13
Model number D E F G | Weight (g)
NAPAT/YH-30-6- [ (-T/O) 87.2 6 36 28 80
NAPAT/YH-30-15- OJ (-T/O) 96.2 | 15 85
NAPAT/YH-30-30- [] (-T/O) 133.2| 30 58 50 109

X[ in the table indicates the cup material.

3% The weight value is when NBR (Nitrile rubber) / without connector selected.

Connector Weight(g)
Symbol Tube O.D ¢ 6
T 1.5
(o) 4.0

dn) uonong

dr uiyl yum dng

PC
PCD

PD

PF

PFO
PH
PJ

CORE

PK2

PK2B

PK2L

PL
PN

PN-B

PP

PQ

198

PR
PU
PW
RA
SM
TN



\aVaV1s B 450 Cup with Non-rotation Spring Fitting

Dimensions

(mm)

dn) uonong

NAPAT/YH-30B NAPAT/YH-40

O
c
T
z
[
>
—
=
S
[
T

14H
Model number D E F G | Weight (g) Model number D E E G |Weight (g)
PC NAPAT/YH-30B-6- (I (-T/0O) 84.2 6 6 8 80 NAPAT/YH-40-6- (1 (-T/O) 87.2 6 36 o8 80
PCD NAPAT/YH-30B-15- [ (-T/0) | 93.2 15 85 NAPAT/YH-40-15- [ (-T/0) 96.2 15 86
NAPAT/YH-30B-30- [ (-T/0) | 130.2| 30 58 50 109 NAPAT/YH-40-30- [ (-T/O) 1332 30 58 50 110
PD %] in the table indicates the cup material. *[Jin the table indicates the cup material.
3% The weight value is when NBR (Nitrile rubber) / without connector selected. 3 The weight value is when NBR (Nitrile rubber) / without connector selected.
PF
PFO NAPAT/YH-50
PH
PJ
CORE |
PK2
PK2B
PK2L
o
PL }
[a)
PN
PN-B \
PP o o
- o~
PQ ©50 Width across flat 13
PR
Model number D E F G | Weight (g)
PU NAPAT/YH-50-6- [J (-T/O) 87.2 6 6 28 81
PW NAPAT/YH-50-15- [ (-T/O) 96.2 15 87
NAPAT/YH-50-30- [ (-T/O) 1332 30 58 50 111
RA [ in the table indicates the cup material.
3% The weight value is when NBR (Nitrile rubber) / without connector selected.
SM
TN

Common Specifications

Connector Weight(g)
Symbol Tube O.D ¢ 6
T 1.5
0 4.0

199



